Gravity Pre-Assessment
Initials + Day of Birth: ______________________________

The moon’s gravity is less than the earth’s.  If the price per pound of apples is the same on the earth and on the moon, which do you think is the better deal:
a. A bag of apples that weighs 5 pounds on earth

b. A bag of apples that weighs 5 pounds on the moon

c. They’re both equally good deals

Explain the reason for your choice.
Gravity Post-Assessment

Initials + Day of Birth: ______________________________

The moon’s gravity is less than the earth’s.  If the price per pound of apples is the same on the earth and on the moon, which do you think is the better deal Which do you think is the better deal:
a. A bag of apples that weighs 5 pounds on earth

b. A bag of apples that weighs 5 pounds on the moon

c. They’re both equally good deals

Explain the reason for your choice.
